2019t £ 18|

JAVA =22 |

514760-1
20194 E3t7|
4/9/2019
Hr A A

ItH| Lab4 (OOP)

O Lab30jA BHE= AreaCalculatorE M XX Ql Z208o= THECE O2[1
Zt = S A0 area(HE) HAE2Qt perimeter (E2) HAEE FIt3HCt
= Circle 2242 - radius

diameter() = 2 * radius
area() = Pl * radius * radius
perimeter() = Pl * diameter()
= Triangle (RlZt&h2td) 222 - base, height, side
area() = base * height / 2.0
perimeter() = base + height + side
= Rectangle 22§ - length, width
area() = length * width
perimeter() = 2 * ( length + width)
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Zt =Y A0 area(HH) HAEQ} perimeter (i) HIAEE FIHICL
= Trapezoid (0| S B ALCHE|E) 2 - top, bottom, height, side

area() = (top + bottom) * height / 2.0
perimeter() = top + bottom + side + side
= Parallelogram S22 - base, side, angle
height() = side * sin(angle)
area() = base * height()
perimeter() = 2 * (side + base)
= Rhombus 222 - side, angle
height() = side * sin(angle)
area() = base * height()
perimeter() = 4 * side
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= Square 222 — length
area() = length * length
perimeter() = 4 * length

= Kite 22H2 - side?, side2, angle
area() = side1* side2 * sin(angle)
perimeter() = 2 * (side1 + side2)
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